
640 LC4 ADVENTURE 2006 <2006><US><9775F1>
ACCESSORIES

3269

Pos Part Number Description Additional Text Quantity

1 58212090144 ROADBOOK CARRIER CPL. ADV. 01 1.00

4 58212090150 SPACER NUT F. ROADBOOK CAR 3.00

7 0015060123 HH COLLAR SCREW M 6X12 WS=8 3.00

8 58403026600 SIDESTAND BRACKET CPL. 03 1.00

9 0912100303 AH SCREW DIN0912-M10X30 1.00

10 0912100256 AH SCREW DIN0912-M10X25 10.9 1.00

12 58403030000 SIDE STAND SPRING D=7,7MM '97 1.00

13 58403030100 SIDE ST.SPRING LO. W.RUBBER 03 1.00

15 58214069044 TRIPMASTER SWITCH CPL. ADV. 02 1.00



25 6000207910030 HANDGUARD L/S+R/S CPL.BLCK 1.00

25 6000207910004 HANDGUARD L/S+R/S CPL.ORANGE 0.00

29 44011076200 CABLE TIE 200/3,6MM BLACK 2.00

30 5840302390090 SIDESTAND LC4 03 LC4 ENDURO 1.00

35 58203027200 SCREW FOR SIDE STAND M10X26,7 1.00

40 58411045000 SIDE STAND SWITCH CPL. '97 1.00

50* 60012024000 ALUMINUM CASE 35 LITER 03 1.00

50* 60012024100 ALUMINUM CASE 41 LITER 03 1.00

51* 60012025060 INSIDE POCKET 35 L L/S 1.00

51 60012024160 INSIDE POCKET 41 L R/S 1.00

52 58412019000 TANK BAG BLACK 1.00

53 58412020000 SUITCASE CARRIER SYSTEM 1.00
* = New part


